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1 AHRAKE
(1) ANOBRORECHET HRIFEEERE

Ee== =T
R st 1’52“;“' T 7Bi s
HEIHLA mg/L |<0. 0003[<0. 0003[<0. 0003 [<0. 0003 0.003LAF
2T mg/L <0. 1 <0.1 <0. 1 <0.1 BREINhEWNT &
0 mg/L <0.001] <0.001[ <0.001| <0.001 0.01LLF
AN RA=WN mg/L <0. 005] <0.005] <0.005| <0.005 0.05LLF
i mg/L 0.002| 0.001 0. 001 0. 001 0.01LLF
#kER mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 0.0005LLF
T ILEILKER mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 BREIhGEWNT &
PCB mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 BREINhEWNT &
scorooirsay mg/L <0.002] <0.002] <0.002| <0.002 0.02LLF
mig{k kR mg/L [<0. 0002[<0. 0002{<0. 0002{<0. 0002 0.002LLF
1, 2=Y9RpQIT4Y mg/L  [<0. 0004[<0. 0004{<0. 0004|<0. 0004 0.004LLF
1, 1= IFLYy mg/L <0.002] <0.002] <0.002| <0.002 0. TLF
PR—1, 2=o508ITFL>| mg/L | <0.004| <0.004| <0.004| <0.004 0.04LLTF
1, 1, 1—kUsBOpIT42> mg/L <0.01| <0.01| <0.01| <0.01 1T
1, 1, 2—hkUYBOpOITA2> mg/L  [<0. 0006(<0. 0006{<0. 0006{<0. 0006 0.006 LA
rysooTFLY mg/L <0.001] <0.001| <0.001| <0.001 0.03LLF
TS0 FLY mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
1, 3—4spp7JAaRy mg/L [<0. 0002[<0. 0002{<0. 0002{<0. 0002 0.002LLF
FOS L mg/L |<0. 0006(<0. 0006<0. 0006 {<0. 0006 0.006 LA
Ry mg/L [<0. 0003[<0. 0003{<0. 0003{<0. 0003 0.003LLF
FARUALT mg/L <0.002] <0.002] <0.002[ <0.002 0.02LLF
Y2 mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
LY mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
WRUEERERUERSMEER | nel | <01 3.6 2.6 26 1050
A0FE mg/L 0.13 0.08 0.08[ <0.08 0.8LLF
F5% mg/L <0.1 <0.1 <0. 1 <0.1 1T
1, 4—SF%Hy mg/L <0. 005] <0. 005 <0.005[ <0.005 0.05LLF
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(2) S£FREOR2R(CETIREHREIER

7 Al
N . BODs; | N-Hxs | SSwa | T-Ns | TP | T-Znx D0 AEEEH]
S A 3 Hse X2 %3 x4 %5 6 x7 8
kmd  |RERRE|MEA| Pha o e/l | e/ | me/L) | /L) | me/l) | (me/L)  [CRPN/100mL)
68 7.7 4.7 — 17 — — — 6.5 49, 000
- 8H 8.1 3.5 — 4 — — — 6.7 | 240,000
THH 118 7.3 3.0 — 1 — — — 4.0 13,000
28 7.8 4.6 — 6 — — — 6.3 49, 000
68 7.6 4.6 — 4 — = — 1.8 | 240,000
e 8H 8.5 3.3 — 5 — = — 14 | 240,000
RRRFKE  EEHE 118 7.6 6.1 — 8 — = — 5.0 | 330,000
28 7.7 9.2 — 12 — = — 6.2 | 490,000
68 8.0 3.8 — 3 — — — 4.3 79, 000
Ean 8H 8.1 3.6 — 2 — — — 5.9 33, 000
118 8.0 1.4 — Al — — — 8.5 33, 000
28 8.2 3.4 — 3 — — — 8.2 24,000
68 7.7 4.5 <0.5 7 — = — 9.7 49, 000
s 8H 8.1 1.8 <0.5 5 — = — 7.5 49, 000
l
241K F 118 8.0 1.1 <0.5 2 = = = 11 13,000
28 8.2 4.5 <0.5 12 = = = 10 3, 300
4
gl 68 7.7 2.8 <0.5 4 — — — 7.0 24,000
s 8H 8.8 4.6 <0.5 24 — — — 18 3, 300
|
4 #IkF 118 7.9 0.9 <0.5 2 — — — 10 13,000
28 8.4 4.9 <0.5 13 — — — 13 4,900
68 7.8 2.1 = 10 = = 0. 006 7.1 79, 000
8H 8.2 2.2 = 6 = = 0. 005 7.8 7,900
il AR 118 7.9 0.9 = 2 = = 0. 005 8.5 49, 000
28 8. 1 4.6 = 7 = = 0.012 8.5 7,900
68 7.7 2.3 — 2 — — — 4.5 24,000
e 8H 7.9 4.2 — Al — — — 8.4 | 240,000
oy = ==
FREE 118 7.7 1.4 — 1 — — — 8.4 24,000
— 28 7.9 2.6 — 3 — — — 9.4 3, 300
= 68 7.7 3.6 = 6 = = = 6.4 33, 000
8H 8.4 4.0 = 2 = = = 15 | 490, 000
=
Sl 118 8.0 1.5 = 1 = = = 13 13,000
28 8.0 2.8 = 3 = = = 11 4,900
68 7.9 2.2 — 12 — — — 8.9 24,000
- 8H 8.4 1.7 — 14 — — — 10 | 490, 000
Hia 118 7.8 0.5] — 2 — — — 12 24,000
. 28 7.9 0.8 — 5 — — — 11 2,400
H 68 7.7 2.5 = 20 = = = 8.0 24,000
o 15 8H 8.3 2.5 = 19 = = = 9.3 33, 000
B = 118 7.7 0.5] — 1 = = = 11 24,000
28 7.9 1.6 = 4 = = = 10 7,900
68 7.3 28 <0.5 12 — — — 3.9 [7,900, 000
=@ 8H 7.7 2.6 <0.5 4 — — — 8.3 33, 000
= 118 7.5 1.0 0.5 2 — — — 8.5 24,000
e — 28 8.0 2.1 <0.5 1 — — — 9.5 2,400
Ciatall 68 8.4 1.5 — 7 — — — 15 13,000
8H 8.6 2.4 = 1 = = = 10 79, 000
& 118 7.9 0.7 = al — = = 11 49, 000
28 8.0 1.1 = 3 = = = 13 1, 300
68 7.7 3.4 <0.5 3 — — — 6.7 | 240,000
i 8H 8.9 3.4 <0.5 3 — — — 20 33, 000
AR —T 7 21 0.5 7 — — - 8.2 | 79,000
28 8.0 4.5 <0.5 8 — — — 6.4 49, 000
R 68 7.8 3.5 <0.5 5 = = = 7.8 13,000
8H 8.2 3.6 <0.5 9 = = = 8.5 24, 000
RANIE 118 7.9 1.8 <0.5 2 = = = 11 33, 000
28 8.2 6.4 <0.5 7 = = = 9.8 13, 000
68 7.9 4.8 — 6 — — — 6.3 | 330,000
- 8H 8.4 2.2 — 3 — — — 12 79, 000
HRiE 118 8.0 1.1 — 3 — — — 8.4 24, 000
28 8. 1 2.8 — 6 — — — 10 7,900
R 6H 8.0 3.0 = 2 = = = 5.2 49, 000
~ 8H 8.2 1.8 = 3 = = = 7.2 49, 000
REH 118 8.0 1.3 = al — = = 8.3 24, 000
28 8.2 2.3 = 5 = = = 9.5 13,000
BAE 8.9 28 <0.5 24 — — 0.012 20 [7, 900, 000
R/ME 7.3 0.7 = 1 = = 0. 005 1.8 1, 300
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4 B
3 CODxo | N-Hys | SSxs | T-Ngs | TPy | T-Znyy DOss KIZE S
KkiE |AEEB[BEA| pHx
(mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) (mg/L) (MPN/100mL)
6H 8.2 22 - 19 1.7 0.19 — 18 13, 000
8H 8.5 21 - 34 1.5 0.23 — 22 7,900
Rubi PO
1A 7.3 6.2 - 6 2.1 0.11 — 6.4 24,000
2H 8.2 8.4 - 14 2.5 0.16 — 12 7,900
6H 8.3 16 = 30 1.3 0.16 = 12 4,900
8H 8.9 15 = 23 1.3 0.12 = 13 13, 000
E/ 07 o
1A 8.0 14 = 18 1.1 0.10 = 10 13, 000
2H 8.1 11 = 11 1.0 | 0.098 = 12 3,300
6H 9.0 19 - 30 1.5 0.19 — 19 13, 000
8H 7.6 26 — 53 2.0 0.58 — 4.9 24,000
T&A O
1A 8.6 21 - 47 1.4 0.31 — 15 13, 000
2H 8.5 15 - 34 1.5 0.24 — 14 7,900
6H 1.4 6.5 = 6 2.4 0.13 = 5.9 33, 000
8H 1.5 6.4 = 1 3.1 0.19 = &, 130, 000
RiF3 BHO
1A 1.5 5.2 = 1 3.2 0.12 = 10 79, 000
2H 7.9 4.2 = 5 3.1 0.086 = 10 7,900
6H 10.1 48 - 60 2.1 0.16 — 17 23
8H 10.0 38 — 48 1.4 0.15 — 16 330
FRM O
1A 9.6 25 - 38 1.1 0.10 - 15 3,300
2H 9.0 19 - 33 1.4 0.18 - 15 330
RAE 10.1 48 = 60 3.2 0.58 0.00 22 130, 000
=/ME 7.3 4.2 = 5 1.0 0.09 0.00 3.3 23

X1 pH - KEMVEE

%2 BOD -+ £¥MLEMBREREE
3 n-H - JIASEEYMEE
X4 SS - FHEMEE

X5 T-N - RERSEHE

X6 T-P - BRYASEHE

%7 T-In--2ENEHE

%8 DO --- AEMFEEE=E

%9 COD --- {LFMIBERERERE



